( What am I? )

Add and use the letters to find the answer to the riddle

19 +19=( JF

21 +21= JI 0 29+29=( U
48 +29=( JH @ 16+ 13= ]S
47 +29=( |JN 50 +25=( |G
34+ 14= JP 19+ 18=[ |O
28 +22= Y | 17+ 18=( T

You’d better not look at me for too long. | disappear at night.

35 77 62 29 58 76
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( What am I? )

Add and use the letters to find the answer to the riddle

29 + 33 =(62JE

\_A 4
19 + 19 =38
21+21—1 29 +29=(58)U
48 +29=(77)H = 16 + 13 =(29) S
47+29=N§50+25:G

34 + 14 = (48] P 19 + 18 =(37]O
28+22=Y§ 17 + 18 =(35] T

You’d better not look at me for too long. | disappear at night.

35 77 62 29 58 76
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